

IDENTITIES: SPECIAL PRODUCTS AND FACTORS

[YAADOAN KI BARAAAT]

Learn Them By



TohMileygiSadaaKhus

hi

Never Gham

$$1. (x + a)(x + b) = x^2 + x(a + b) + ab.$$

$$2. (a + b)^2 = a^2 + 2ab + b^2.$$

$$3. (a - b)^2 = a^2 - 2ab + b^2.$$

$$4. (a + b + c)^2 = a^2 + b^2 + c^2 + 2ab + 2bc + 2ca.$$

$$5. (a + b)^2 + (a - b)^2 = 2(a^2 + b^2).$$

$$6. (a + b)^2 - (a - b)^2 = 4ab \text{ or}$$

$$(a - b)^2 - (a + b)^2 = -4ab.$$

$$7. (a + b)^3 = a^3 + b^3 + 3ab(a + b) = a^3 + 3a^2b + 3ab^2 + b^3.$$

$$8. (a - b)^3 = a^3 - b^3 - 3ab(a - b) = a^3 - 3a^2b + 3ab^2 - b^3.$$

$$9. (a - b)(a + b) = a^2 - b^2.$$

$$10. (a - b)(a + b)(a^2 + b^2) = a^4 - b^4.$$

$$11. a^3 + b^3 = (a + b)(a^2 - ab + b^2).$$

$$12. a^3 - b^3 = (a - b)(a^2 + ab + b^2).$$

$$13. a^3 + b^3 + c^3 - 3abc = (a + b + c)(a^2 + b^2 + c^2 - ab - bc - ca).$$

$$14. \text{CONDITIONAL IDENTITY: If } a + b + c = 0, \text{ then } a^3 + b^3 + c^3 = 3abc.$$

$$15. a^4 + a^2b^2 + b^4 = (a^2 + ab + b^2)(a^2 - ab + b^2).$$

$$16. a^4 + a^2 + 1 = (a^2 + a + 1)(a^2 - a + 1).$$

$$17. a^6 + b^6 = (a^2)^3 + (b^2)^3 = (a^2 + b^2)(a^4 - a^2b^2 + b^4).$$

$$18. a^6 - b^6 = (a^3)^2 - (b^3)^2 = (a^3 + b^3)(a^3 - b^3) = (a + b)(a^2 - ab + b^2)(a - b)(a^2 + ab + b^2).$$

ANY FACT FACING US IS NOT AS IMPORTANT AS OUR ATTITUDE
TOWARDS IT, FOR THAT DETERMINES OUR SUCCESS OR FAILURE.
